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Electricity

55 W

W = V x A

W = V x A

6	 The electric toaster shown below is 
using 2 amperes and is plugged into a 
110-volt electrical socket.   
What is the wattage of  
the toaster?

	 _______ W

7	 What is the function of the switch shown 
in the diagram below?  

	 Circle the answer letter.

a.	 it increases  
the voltage      

b.	 it keeps the battery working   

c.	 it allows current to pass through it

1	 A watt is a measure of electrical ________.   
	 Circle the answer.

3	 Use the wattage in the picture to calculate 
the amperes being used by the lightbulb.  
The bulb in the picture is plugged into a 
110-volt electrical outlet.

	 _______ A

2	 German physicist George Ohm formulated 
Ohm’s law through his study of electric 
current.  Using Ohm’s law, calculate the 
resistance in ohms (Ω) if the current is 6 
amperes and the voltage is 12.

	 _______ Ω

10		 Why is parallel wiring in a home better  
	 than series wiring? 
a.	 fuses can be used 

b.	 if one part of the circuit goes bad, 
the other parts still work   

c.	 parallel wiring is less expensive

9	 This circuit has options for the electricity 
to pass through.  Therefore, this is called 
a ________ circuit.

8	 What type of circuit is shown in the 
diagram below?

4	 A kilowatt-hour is 1,000 watts of electricity 
used for one hour.  If an electric dishwasher 
uses 200 watts for one hour, what is the 
number of kilowatts used?

	 _______ kW

5	 Electric current is the continuous flow of 
________ through a substance.

Name ____________________________   Class __________________  Date ____________
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Electricity - Answer Key

55 W

W = V x A

W = V x A

6	 The electric toaster shown below is 
using 2 amperes and is plugged into a 
110-volt electrical socket.   
What is the wattage of  
the toaster?

	 _______ W

7	 What is the function of the switch shown 
in the diagram below?  

	 Circle the answer letter.

a.	 it increases  
the voltage      

b.	 it keeps the battery working   

c.	 it allows current to pass through it

1	 A watt is a measure of electrical ________.   
	 Circle the answer.

3	 Use the wattage in the picture to calculate 
the amperes being used by the lightbulb.  
The bulb in the picture is plugged into a 
110-volt electrical outlet.

	 _______ A

2	 German physicist George Ohm formulated 
Ohm’s law through his study of electric 
current.  Using Ohm’s law, calculate the 
resistance in ohms (Ω) if the current is 6 
amperes and the voltage is 12.

	 _______ Ω

10		 Why is parallel wiring in a home better  
	 than series wiring? 
a.	 fuses can be used 

b.	 if one part of the circuit goes bad, 
the other parts still work   

c.	 parallel wiring is less expensive

9	 This circuit has options for the electricity 
to pass through.  Therefore, this is called 
a ________ circuit.

8	 What type of circuit is shown in the 
diagram below?

4	 A kilowatt-hour is 1,000 watts of electricity 
used for one hour.  If an electric dishwasher 
uses 200 watts for one hour, what is the 
number of kilowatts used?

	 _______ kW

5	 Electric current is the continuous flow of 
________ through a substance.

Name ____________________________   Class __________________  Date ____________
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2

0.5

55 = 110 x A
55 ÷ 110 = A

200 watts ÷ 1,000 
= 0.2 kilowatts

220

0.2
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